AP Statistics - Chapter 6Test Name

(TOTAL 90 POINTS)

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question. (3 points

each)

Use the following information for questions 1-2:

In an AP* Stats class, 57% of students eat breakfast in the morning and 80% of students floss their teeth. Forty six percent of

student% eat breakfast and also floss their teeth.

1) What is the probablhty that a student from this class eats breakfast but does not floss their teeth?
) 11% B) 9% C) 34% D) 57% E) 91%
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2) What is the probablllty that a student from this class eats breakfast or flosses their teeth?

A) 57% B) 11% C) 34% D) 9% E)91% ) «
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3) Five juniors and four seniors have applied for two open student council positions. School administrators have
decided to pick the two new members randomly What is the probability they are both juniors or both seniors?
0.444 B) 0.506 ) 0.722 D) 0.569 E) 0.395

| | | P(x)= h (*¢)
4) Which two events are most likely to be independent? _:) +/ ('3/
@egistering to vote; being left-handed (&5 E S)
~B)-having-a car accident; having a junior license 3;/77
—O) being-asenior; going to homeroom
___ D) having 3inches of snow in the morning; being on time for school
__E) doing-the Statistics homework; getting an A on the test

5) Political analysts estimate the probability that Hillary Clinton will run for president in 2008 is 45%, and the
probability that NY's Governor George Pataki will run as the Republican candidate is 20% If their political
decisions ar@elx@t n what is the probability that only Hillary runs for pre51dent7

A) 25%  (B)36% C)11% D) 45% E) 9%

" 6’\ 551 |0-f>"i%
6) A fair coin has come up "heads" 10 times in a row. The probability that the coin will come up heads on the next
flip is
A) greater than 50%, since it appears that we are in a streak of "heads.”
B) 50%.
t cannot be determined.
D) less than 50%, since "tails" is due to come up.
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7) Anice cream stand reports that 12% of the cones they sell are "jumbo” size. You want to see what a
"jumbo” cone looks like, so you stand and watch the sales for a while. What is the probability that the first

jumbo cone is the fourth co gu see them sell?
A) 33% B) 8% C) 40% D) 93% E) 60%
(.59° (13) = 0%
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8) A survey of some AP* Stats students recorded gender and whether the student was left or right-handed. Results

were summarized in a table like the one shown. If it turned out that handedness was independent of gender,
how many of the AP* Stats students were lefty girls?

Letty | Righty | Total
_Boy | | 66
Girl | ? 54 |51 i20= 7@ ‘5’
Total | 20 100 120 -
" —
A) 4 % L°/|2Q=-,'l[oéa

B)7
Q) It cannot be determined.
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9) What is the probability there is exactly 1 jumbo

among the first 6 cones sold by the ice cream stand in #77?
A) 12% B) 6% @ D) 84% E) 54%
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10) According to the National Telecommunication and Information Administration, 50.5% of U.S. households had

Internet access in 2001. What is the probability that four randomly selected U.S. households all had Internet
access in 2001?

A) 50.5% B) 49.5% C) 6.5;’/?'\']| L{D) 12.6% E) 93.5%
(:509)'= 004
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11) A basketball player has a 70% free throw percentage. Which plan could be used to simulate the number of free

throws she will make in her next five free throw attempts?

>i< Let 0,1 represent making the first shot, 2, 3 represent making the second shot,..., 8, 9 represent making the
ifth shot. Generate five random numbers 0-9, ignoring repeats.

II) Let 0, 1, 2 represent missing a shot and 3, 4,..., 9 represent making a shot. Generate five random numbers 0-9
and, count how many numbers are in 3-9.

\H{. Let 0, 1, 2 represent missing a shot and 3, 4,.

9 represent making a shot. Generate five random numbers
0-9 and count how many numbers are in 3-9, i _gnoﬂngrpegeabs G
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A) III only B) I only Q) L 11, and III D) II only ) E) Il and III



SHORT ANSWER. Clearly show your work to receive full credit. (3 POINTS EACH SUB-QUESTION, UNLESS
OTHERWISE STATED)

A new clothing store advertises that during its Grand Opening every customer that enters the store can throw a bouncy
rubber cube onto a table that has squares labeled with discount amounts. The table is divided into ten regions. Five regions
award a 10% discount, two regions award a 20% discount, two regions award a 30% discount, and the remaining region

o 1 eas
awards a 50% discount. Show your work. DiscounT
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12) What is the probability that a customer gets mMM 2 — 2o
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13) What is the probability that a customer gets less than a 20% discount?

P( Less Hhen 0'75 (S oe S0, \

14) What is the probability that the first two customers both get a 50% discount?

Pl S () "= (01 se 1%
15) What is the probability that none of the first three customers gets more than a 30% discount?

P(NDQ& THAN 307)

- %omﬁw% (CD =/ 729 ox 729% |

16) What is the probability that the first customer to win a 30% discount is the sixth customer that enters the store?
PLEo) = 2
((m™ bE CaY () =| 0LsS3 on 07 or 17 0l
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17) What is the probability that there is at least one customer to win a 50% discount among the first five customers
Larah e e
that enter the store?
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18) A survey of families revealed that 58% OMMEV at holiday meals, 44% eat ham, and 16% have
both turkey and ham to eat at holiday meals. }

a. What is the probability that a family selected at random had neither turkey nor ham at their holiday meal?

P (NETRER) =(¥) Venn Disgrem se 1=[trs5-13-
o 14

b. What is the probability that a family selected at random had only ham without having turkey at their holiday

meal? _
FP(H%M oni:f\: @ i JUF —. 1L = . 3%

e
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c. What is the probability that a randomly selected family having turkey had ham at their holiday meal?

- 1L |
P( hom | Tueked) = “55 = 2151 @

d. Are having turkey and having ham disjoint events? Explain.

NO, 1b% WAVE BoT™ WAmMm Ko TURKEY,



.Y\ # k\'\‘-’l\vl;u-v;——-—-
. B s 20

PC?RoM-U'ﬂ\?JN\ Rp&ig}:— " 40 :.5“# P(?Q\OMOT;UNB
Qo % P (ﬂ\m&.EB =, 4o
9‘ {' P( P\Q\%E\?QOH.QﬁU‘%: %U—Q :'(‘jq_ #: 'P(Qﬁ‘s{:.>

20) For purposes of making budget plans for staffing, a college reviewed student's year in school and area of study.
Of the students, 22.5% are seniors, 25% are juniors, 25% are sophomores, and the rest are freshmen. Also, 40% of
the seniors major in the area of humanities, as did 39% of the juniors, 40% of the sophomores, and 36% of the
freshmen. What is the probability that a randomly selected humanities major is a junior? Show your work.
@POINTS)

oY

0.4 - Humanities (0.225)(04) =0.09

0250 AJunwor k=

Semior<L__ o L
0 «,-1/ 0.6 7 Other (0.223)(0,0) =0.135
< O‘J/”C’a Humamtes (0.2510.39)

0.61™ Other (02530.61) =0.1525
‘f‘ e 0.4~ Humamties (0.25504) =0.1
W, 9257 Seph < e )
o N O.Q’ ™ Other 11_0.32)'(\0.0{ = 0.{1\:
/k N Fresh gj,of Humanities (0.275)(0.36) =0.099
0,65 Other [0.273)(0.64) = 0.176
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Sgo! P(humanities major) = 0.09 + 0.29(]75 -;_I(;l +00(.)(;97?5 =0.3865
, nH) 0.
P(junior | humanities major) = P~ 0.3865
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22) Preservative Leather furniture used in public places can fade, crack, and deteriorate rapidly. An airport
manager wants to see if a leather preservative spray can make the furniture look good longer. He buys eight
new leather chairs and places them in the waiting area, four near the south-facing windows and the other four
set back from the windows as shown. He assigned the chairs randomly to these spots.
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a. Use the random numbers given to decide which chairs to spray. Explain your method clearly.

32719 fysdz 86374
() BLock Twe CHARS . Two CHAILS FroM EACK Row
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@ Random sele s 5 +F —?—r:\m RoOul 4.

b. Briefly explain why your assignment strategy is important in helping the manager assess the effectiveness of
the leather preservative.

NINDOows MA{ PLAY @& ROLE 1A THE LEWTRELS
Life ( Son, heed,etc) .
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